9.4 Measures of Variation
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Range-> The & \JSJ‘\G.*‘Q(\QR between the & vﬂ\'gsﬁvalue and the \Q on.,s_\“

value.

First Quartile-> The \rmz\é\ cy of the \owﬂ \ &\S\T of the data.

Third Quartile-> The mek\m\ of the MRRO S \\5\5; of the data.

The A K £ e ence between the'tni o é _q:\&w‘\‘\\ & and the‘g\v §\ _CL\m'(\lt '\\ L s

called the interquartile range.

Find the median, first quartile, third quartile, and the interquartile range of the data.

gh, 76,90, 87,99, 91, 88, 98, 76, 9, 94
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The ages of people in line for a roller coaster are 1#, 1,[7, 3/1 #2, 41/, ?, 2‘, 5/1, }6 }6, }‘ and

2#. Find and interpret the range of their ages.
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